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% EE322 PS25 Problem 1

f=-100:.01:100;

X=1/10*sinc(£/10);

figure(1l),subplot(2,1,1)

plot(f,abs(X)),xlabel('frequency (Hz)'), ylabel('Magnitude'),grid on

subplot(2,1,2)
plot(f,angle(X)*180/pi),xlabel('frequency (Hz)'),ylabel('Phase

(deg) ')
grid on
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% EE322 PS25 Problem 2

f=-10:.01:10;

X=1./(1-j*2*pi*f).*(exp(l-j*2*pi*xf)-1);

figure(2),subplot(2,1,1)

plot(f,abs(X)),xlabel('frequency (Hz)'), ylabel('Magnitude'),grid on
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subplot(2,1,2)

plot(f,angle(X)*180/pi),xlabel('frequency (Hz)'),ylabel('Phase
(deg) ')

grid on
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